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Nombre 

Sumas hasta 5: Vertical 

Suma. Escribe las respuestas. 
Colorea la imagen.

      1 
+ 3

2 
+ 1

2 
+ 3

0 
+ 5

0 
+ 3       3 

+ 1

     4 
+ 1

1 
+ 1

3 
+ 2

      1 
+ 0

2 
+ 2 4 

+  1

    1 
+ 3

5 
+ 0

3 
+ 2

1 
+ 4

0 
+ 4

1 
+ 2

2 
+ 2

3 
+ 2

0               
+ 2

Calentamiento: ¡A Moverse!
Resuelve los problemas a continuación. Luego, 
da saltos de tijera y cuenta para demostrar 
cada suma.
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Nombre 

Sumas hasta 5: Vertical y Horizontal
Suma. Escribe las respuestas.

3 + 2 =	 1 + 1 =	
0 + 5 =	 2 + 3 =	
2 + 2 =	 4 + 0 =	
1 + 3 =	 0 + 1 =	
4 + 1 =	

3 + 2 =	1 + 1 =	
4 + 1 =	

1 + 2 =	

3 
+ 1

2 
+ 2

3 
+ 0

1 
+ 4

4 
+ 1

1 
+ 3

3
+ 2

1 
+ 1

2
+ 1

0 
+ 2

0
+ 5

2 
+ 3

Calentamiento: ¡A Moverse!
Resuelve los problemas a continuación. Luego, 
toca los dedos de los pies mientras cuentas 
para demostrar las respuestas. 

2 + 2 =	
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Nombre 

Resta hasta 5: Vertical

5
- 3

5
-  1

2
-  1

2 
- 0

5
- 4

4 
- 1

3
- 0

4    
– 0

4
- 2

4
- 3

5
- 3

4 
- 1

3
- 2

- 0

4
- 2

Resta. Escribe las respuestas. 
Colorea según el código.

2 = blue 3 = pink 4 = yellow 5 = green

5
-  1

4 
-  0

1

Calentamiento: ¡A Moverse!
Mira los problemas a continuación. Salta y di el 
primer número. Luego, pisa fuerte mientras cuentas 
hacia atrás para demostrar cada diferencia.  
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Nombre 

Sustracción Menos 5:
Vertical y Horizontal

Resta. Escribe las respuestas.

5 - 2 =	 5 - 4 =	
3 - 1 =	 3 - 2 =	
4 - 2 =	 5 - 3 =	
1 - 0 =	 2 - 1 =	
4 - 4 =	 4 - 3 =	

5 - 2 =	 4 - 2 =	
4 - 3 =	

5 
-  1

5 
- 0

4 
- 3

3 
- 1

2 
- 2

3 
- 3

4 
- 0

3 
- 2

5 
- 4

0 
- 0

5 
- 3

5 
- 2

Calentamiento: ¡A Moverse!
Mira los problemas. Ponte en cuclillas y 
di el primer número. Luego, da zancadas 
mientras cuentas hacia atrás para 
demostrar cada diferencia.

2 - 1 =	
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K - Math (Operations & Algebraic Thinking) Addition and Subtraction Within 5 

Addition Within 5: Vertical
Warm Up: Students should do jumping jacks 
and count to show each sum: 2 + 2 = 4,  
0 + 2 = 2, 3 + 2 = 5.
Check students’ coloring.
Starting at top right from outside of petal to 
inside: 0 + 5 = 5, 2 + 3 = 5, 0 + 3 = 3, 3 + 1 = 4, 
4 + 1 = 5, 1 + 1 = 2, 1 + 3 = 4, 5 + 0 = 5, 0 + 4 = 4, 
3 + 2 = 5, 1 + 2 = 3, 1 + 4 = 5, 3 + 2 = 5, 1 + 0 = 1, 
2 + 2 = 4, 4 + 1 = 5, 1 + 3 = 4, 2 + 1 = 3

Addition Within 5: Vertical and Horizontal
Warm Up: Students should touch their toes 
and count to show each sum: 1 + 1 = 2,  
3 + 2 = 5, 4 + 1 = 5, 2 + 2 = 4.
Column 1:
3 + 2 = 5
0 + 5 = 5
2 + 2 = 4
1 + 3 = 4
4 + 1 = 5

Column 2:
1 + 1 = 2
2 + 3 = 5
4 + 0 = 4
0 + 1 = 1
1 + 2 = 3

Bottom of page (left to right and top to  
bottom): 3 + 1 = 4, 3 + 0 = 3, 4 + 1 = 5, 3 + 2 = 5, 
2 + 1 = 3, 0 + 5 = 5, 2 + 2 = 4, 1 + 4 = 5, 1 + 3 = 4, 
1 + 1 = 2, 0 + 2 = 2, 2 + 3 = 5

Subtraction Within 5: Vertical
Warm Up: Students should jump and say the 
first number in each problem, then stomp 
and count down to find each difference:  
5 – 3 = 2, 4 – 1 = 3, 3 – 2 = 1.
Check students’ coloring.
Top left wing: 5 – 4 = 1, 5 – 3 = 2, 5 – 1 = 4,  
4 – 1 = 3
Bottom left wing: 2 – 1 = 1, 2 – 0 = 2
Head and body: 5 – 1 = 4, 4 – 0 = 4
Top right wing: 4 – 3 = 1, 4 – 2 = 2, 4 – 0 = 4,  
3 – 0 = 3
Bottom right wing: 1 – 0 = 1, 4 – 2 = 2

Subtraction Within 5: Vertical and Horizontal
Warm Up: Students should squat and say the 
first number in each problem, then lunge and 
count down to find each difference: 5 – 2 = 3, 
4 – 2 = 2, 4 – 3 = 1, 2 – 1 = 1.
Column 1:
5 – 2 = 3
3 – 1 = 2
4 – 2 = 2
1 – 0 = 1
4 – 4 = 0

Column 2:
5 – 4 = 1
3 – 2 = 1
5 – 3 = 2
2 – 1 = 1
4 – 3 = 1

Bottom of page (left to right and top to 
bottom): 5 – 1 = 4, 4 – 3 = 1, 2 – 2 = 0, 4 – 0 = 4,  
5 – 4 = 1, 5 – 3 = 2, 5 – 0 = 5, 3 – 1 = 2, 3 – 3 = 0, 
3 – 2 = 1, 0 – 0 = 0, 5 – 2 = 3


